
1)

Answer: ____________

2) Round 13.619548 to the nearest 1000

Answer: ____________

3) 52 - (-89)

Answer: ____________

4) Share 25 in the ratio 3:2

Answer: ____________

5) 55 + 66

Answer: ____________

6) Round 5.037930 to 1 decimal places.

Answer: ____________

7) Find area of triangle
h = 59 cm, a = 79 cm,
b = 89 cm, c = 100 
cm

Answer: ____________

8) Decrease 124 by 5/62

Answer: ____________

9) 72 + (-17)

Answer: ____________

10)
16  Find Volume of 
                         Hexagonal Pyramid 

14
14

Answer: ____________

11) Convert the following mixed number 
65/9 to an improper fraction.

Answer: ____________

12) 22.2 x 24

Answer: ____________

13) Solve 5s2 - 5s - 10 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

14) Find the value of 'q' by completing 
the square of the following equation: 
2 + 10q + 16

Answer: ____________

15) 98 + 4

Answer: ____________
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16) 16/6 - 18/11

Answer: ____________

17) 85 * 819

817

Answer: ____________

18) 20 ÷ 10

Answer: ____________

19) 13/9 - 7/7

Answer: ____________

20) (3 x 68) + (6 x 24)

Answer: ____________

Total: ___ / 20
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Answers:

1) 2) 13.62 3) 141 4) 5 : 20 5) 121 6) 5 7) 2625.5cm

8) 114 9) 55 10) 2715.855666268 11) 59/9 12) 532.8 13) s = 2 or -1 14) (q + 5)2 - 9

15) 102 16) 11/33 17) 87 18) 2 19) 4/9 20) 5038944
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